
Why is Legacy Data Warehouses 
Costing You More?

High Failure Rates

Outdated Technology 

Slow Performance  

Inflexible and Rigid Architecture

High Redundancy and Complexity 

� Technical issues and complex architecture. 

� Storage Issues: When dealing with several petabytes 
of data, it’s impossible to scale the storage capacities. 

� With the proliferation of IoT devices, social media, 
etc., data have jumped exponentially. This made 
it hard for traditional data warehouses to deal 
with such high volumes of data, leading to slow 
performance. 

� The Data warehouse is not flexible   

� Multiple data stores lead to unreliable and 
inconsistent reporting, data inaccuracy, integration, 
and validation issues, and it is a loss of time, 
resources, and money.    

� The inability to meet the user’s needs and 
requirements. 

� Scalability Issues: - Traditional Data Warehouse systems 
don’t use in-memory storage and parallel processing, and 
it can prevent vertically scaling. 

� Small changes to the data model can 
take several months. 
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